Bridging boundaries
by counting back in

63452 + 19999
Round then adjust

2452-091 40,007 - 39,995
Round then adjust Find the difference
between two numbers

; ; 5451 - 1999
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Add 20,000 then subtract 1
Count on 5 from
395 to 4000, then 7 more
so the difference between
themis 6 +7 = 12

Take away 1 then add 1 thousandth
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2300 - 300 - 500 = 1500 Take away 2000 then add 1
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1500 2000 2300 4007 3451 3452 5451
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230-80
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- 1216
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then I also know
Line up the ones
with the ones, the

tens with the tens,

Bridging boundaries Find the difference
3543 - 1216 3343~ 1756 9543 - 835 g ok in between two numbers
Exchanging tens Exchanging in muttiple Different numbers of digits
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Take away 200 then add 1
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If the ones digit in the minuend is
less than the ones digit in the
subtrahend, T need to exchange
1 ten for 10 ones.

56 - 19 =
Round then adjust g %o
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Subtract 20 then add 1 720

I 3;:'5 o 123 345 - 15 345-67
Xchanging tens Exchanging in multiple ’ . -
columns Different numbers of digits
100s | 10s
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Find the difference between
two r\umbers

52-47=0)
@eO=E 52 - 47 is not equal to 47 - 52
Line up the ones 3 ,,ﬁ Subtraction is not commutative

with the ones, the
tens with the tens,
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7=7+0| OOOO0O0O00 |7-0=
7=6+1| QOOOO0® |7-1=
7T=042 7-2=
5=043 §-8= 7=44+3 =
S5=1+4 5-4= 7’ +4 - X
=3+ -4 = : : 3
5=0+56 5-65= I
7=24+5 7-5= 383 . oo : :
6=6+0| OOOOO0 |6-0= 7=1+6 6= 18 ; 1823110 B 12 is one part
6=5+1| QOO0OO0@® |6-1= 000¢ Fipen 8is one part
7=0+7 7-7= La=ot ] 20 is the whole
6=4+2| QOOO0O@ |6-2= ’ 1 Ik
= _3= 3 3 now
6=:+:| 00OOO® |s-3- , i ‘ 1 | o
6=2+4 6-4= 8 is the whole ° ’ : then T also know
=1+5 6-5= 216 apart | eonepn : i e
o6 6obe 6is apart 16 s the whole
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5 is the whole
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